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可拆卸真空封合 – O-ring
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O-ring groove design

3



More clamp
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金屬墊圈刀刃及斜楔法蘭封合
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Comparison of different types of flange
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永久封合
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真空閥門分類
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閘閥結構
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電引入
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封合式視窗
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可拆式視窗
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Flange of the vacuum chamber for the spherical tokamak
40

 c
m

15 cm

22.5 cm
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We need to work with a vacuum system

40
 

cm

15 cm

10 
cm

22.5 
cm

1 kW, 2.45 GHz 
Magnetron

Vertical-field coils
Tokamak
plasma
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(1) Feedthrough for conducting 
current to drive the vertical coil.

(2) Feedthrough for Rogowski coil.
(3) Feedthrough for triple probe.



Plasma will first be generated using capacitive coupling

15

• RF can interact with plasma inductively or capacitively.



Capacitive RF coupling plasma without magnetic fields

⇀𝑭𝑭 = 𝒎𝒎⇀𝒂𝒂 = −𝝂𝝂𝒄𝒄𝒎𝒎⇀𝒗𝒗 − 𝒆𝒆⇀𝑬𝑬

𝒎𝒎
𝒅𝒅𝟐𝟐𝒙𝒙
𝐝𝐝𝐝𝐝𝟐𝟐

+ 𝒎𝒎𝝂𝝂𝒄𝒄
𝒅𝒅𝒙𝒙
𝐝𝐝𝐝𝐝

= 𝒆𝒆𝑬𝑬𝟎𝟎𝐬𝐬𝐬𝐬𝐬𝐬 𝛚𝛚𝛚𝛚

𝒎𝒎
𝐝𝐝𝐝𝐝𝒚𝒚
𝐝𝐝𝐝𝐝 + 𝒎𝒎𝝂𝝂𝒄𝒄𝒗𝒗𝒚𝒚 = 𝟎𝟎

𝒗𝒗𝒚𝒚 𝒕𝒕 = 𝒗𝒗𝐲𝐲𝐲𝐲𝐞𝐞𝐞𝐞𝐞𝐞 −𝝂𝝂𝒄𝒄𝒕𝒕

𝒙𝒙 = 𝑪𝑪𝟏𝟏𝐬𝐬𝐬𝐬𝐬𝐬 𝛚𝛚𝛚𝛚 + 𝑪𝑪𝟐𝟐𝐜𝐜𝐜𝐜𝐜𝐜 𝛚𝛚𝛚𝛚

𝑪𝑪𝟏𝟏 = −
𝒆𝒆𝑬𝑬𝟎𝟎
𝒎𝒎

𝟏𝟏
𝝎𝝎𝟐𝟐 + 𝝂𝝂𝒄𝒄𝟐𝟐

𝑪𝑪𝟐𝟐 = −
𝝂𝝂𝒄𝒄𝒆𝒆𝑬𝑬𝟎𝟎
𝛚𝛚𝛚𝛚

𝟏𝟏
𝝎𝝎𝟐𝟐 + 𝝂𝝂𝒄𝒄𝟐𝟐

𝒗𝒗𝒙𝒙 𝒕𝒕 = − 𝒆𝒆𝑬𝑬𝟎𝟎𝝎𝝎
𝒎𝒎 𝝎𝝎𝟐𝟐+𝝂𝝂𝒄𝒄𝟐𝟐

𝐜𝐜𝐜𝐜𝐜𝐜 𝛚𝛚𝛚𝛚 − 𝝂𝝂𝒄𝒄
𝝎𝝎
𝐬𝐬𝐬𝐬𝐬𝐬 𝛚𝛚𝛚𝛚

𝑷𝑷 =
𝒅𝒅𝑾𝑾
𝒅𝒅𝒕𝒕 = 𝐞𝐞𝐞𝐞𝟎𝟎𝐬𝐬𝐬𝐬𝐬𝐬 𝛚𝛚𝛚𝛚 𝒗𝒗𝒙𝒙

𝑷𝑷
_
𝐭𝐭𝐭𝐭𝐭𝐭 = 𝒏𝒏𝒆𝒆𝑷𝑷

_
=
𝟏𝟏
𝟒𝟒 𝝐𝝐𝟎𝟎𝑬𝑬𝟎𝟎

𝟐𝟐 𝟐𝟐𝒏𝒏𝒆𝒆𝒆𝒆
𝟐𝟐

𝒎𝒎𝝐𝝐𝟎𝟎
𝝂𝝂𝒄𝒄

𝝎𝝎𝟐𝟐 + 𝝂𝝂𝒄𝒄𝟐𝟐
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High voltage electrode inserted from the feedthrough at 
the bottom of the chamber will be used for CCP 

40
 c

m

15 cm

22.5 cm
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A pulse generator will be used to convert a DC voltage 
to an AC voltage

18www.melec.de

DC power 
supply

Pulse 
generator Transformer HV- RF

output



Internal of a magnetron

19https://kids.britannica.com/students/article/electron-tube/106024/media?assemblyId=137



Microwave is generated in pulses

20http://www.sciencemadness.org/talk/viewthread.php?tid=154071

Time (t/T)

μ-wave OUT
V (v) 

μ-wave OUT

𝑻𝑻 =
𝟏𝟏
𝟔𝟔𝟔𝟔 = 𝟏𝟏𝟏𝟏.𝟕𝟕𝟕𝟕𝟕𝟕

8 ms

• The width of the microwave pulses is ~ 8 ms.



Electron cyclotron resonance (ECR) microwave 
systems

microwave systems
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Strong absorption occurs when the frequency matches 
the electron cyclotron frequency

• Electron cyclotron resonance heating (ECH, ECR heating)
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Electrons keep getting accelerated when a electric field 
rotates in electron’s gyrofrequency

𝒎𝒎𝒆𝒆
𝒅𝒅⇀𝒗𝒗
𝐝𝐝𝐝𝐝

= −
𝒆𝒆
𝒄𝒄
⇀𝒗𝒗 ⨯⇀𝑩𝑩 − 𝒆𝒆⇀𝑬𝑬 ⇀𝑬𝑬 = ]𝑬𝑬𝟎𝟎[�𝒙𝒙𝐜𝐜𝐜𝐜𝐜𝐜 𝛚𝛚𝛚𝛚 + �𝒚𝒚𝐬𝐬𝐬𝐬𝐬𝐬 𝛚𝛚𝛚𝛚

𝒎𝒎𝒆𝒆𝒗𝒗
·
𝒙𝒙 = −

𝒆𝒆
𝒄𝒄
𝑩𝑩𝒗𝒗𝒚𝒚 + 𝑬𝑬𝟎𝟎𝐜𝐜𝐜𝐜𝐜𝐜 𝛚𝛚𝛚𝛚

𝒎𝒎𝒆𝒆𝒗𝒗
·
𝒚𝒚 =

𝒆𝒆
𝒄𝒄 𝑩𝑩𝒗𝒗𝒙𝒙 + 𝑬𝑬𝟎𝟎𝐬𝐬𝐬𝐬𝐬𝐬 𝛚𝛚𝛚𝛚

𝒎𝒎𝒆𝒆𝒗𝒗
·
𝒛𝒛 = 𝟎𝟎

𝒗̈𝒗𝒙𝒙 = −𝝎𝝎𝐜𝐜𝐜𝐜
𝟐𝟐𝒗𝒗𝒙𝒙 −

𝑬𝑬𝟎𝟎
𝒎𝒎𝒆𝒆

𝝎𝝎𝐜𝐜𝐜𝐜 + 𝝎𝝎 𝐜𝐜𝐜𝐜𝐜𝐜 𝛚𝛚𝛚𝛚

𝒗̈𝒗𝒚𝒚 = −𝝎𝝎𝐜𝐜𝐜𝐜
𝟐𝟐𝒗𝒗𝒚𝒚 +

𝑬𝑬𝟎𝟎
𝒎𝒎𝒆𝒆

𝝎𝝎𝐜𝐜𝐜𝐜 + 𝝎𝝎 𝐬𝐬𝐬𝐬𝐬𝐬 𝛚𝛚𝛚𝛚

𝝎𝝎𝐜𝐜𝐜𝐜 =
𝒆𝒆𝑩𝑩
𝒎𝒎𝒆𝒆𝒄𝒄

⇀𝑩𝑩 = 𝑩𝑩𝟎𝟎�𝒛𝒛
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Electric field in a circular polarized electromagnetic 
wave keeps rotating as the wave propagates 

• Right-handed polarization • Left-handed polarization

https://en.wikipedia.org/wiki/Circular_polarization24



A magnetic field of 0.0876 T is needed for ECH

25

𝝎𝝎𝐜𝐜𝐜𝐜 =
𝒆𝒆𝑩𝑩
𝒎𝒎𝒆𝒆𝒄𝒄

≡ 𝝎𝝎 = 𝟐𝟐𝝅𝝅 × 𝟐𝟐.𝟒𝟒𝟒𝟒 𝐆𝐆𝐆𝐆𝐆𝐆

𝑩𝑩 =
𝟐𝟐𝝅𝝅 × 𝟐𝟐.𝟒𝟒𝟒𝟒 × 𝟏𝟏𝟏𝟏𝟗𝟗𝒎𝒎𝒆𝒆𝒄𝒄

𝒆𝒆
= 𝟖𝟖𝟖𝟖𝟖𝟖 𝐆𝐆 = 𝟎𝟎.𝟎𝟎𝟎𝟎𝟎𝟎𝟎𝟎 𝐓𝐓

40

15

10

22.5

5

1 kW, 2.45 GHz 
Magnetron

Tokamak
plasma

Unit: cm

Toroidal field coil

I

𝑩𝑩 =
𝝁𝝁𝟎𝟎𝑰𝑰
𝟐𝟐𝝅𝝅𝒓𝒓

𝑰𝑰 =
𝟐𝟐𝝅𝝅𝒓𝒓𝑩𝑩
𝝁𝝁𝟎𝟎

=
𝟐𝟐𝝅𝝅𝒓𝒓𝑩𝑩

𝟒𝟒𝝅𝝅 × 𝟏𝟏𝟏𝟏−𝟕𝟕

= 𝟓𝟓𝑩𝑩 𝐓𝐓 𝒓𝒓 𝐦𝐦 𝐌𝐌𝐌𝐌

= 𝟐𝟐𝟐𝟐 𝐤𝐤𝐤𝐤 @ 𝟓𝟓 𝐜𝐜𝐜𝐜

• A pulsed-power system 
will be used to generate 
the current with a pulse 
width of 1 ms.



The 0.1-T magnetic field is sufficient to confine 10-eV Ar
ion

T (eV) H (1g/mole) D (2g/mole) T (3g/mole) He (4g/mole) Ar (40g/mole)
1 1.4 2.0 2.5 2.9 9.1
10 4.6 6.5 7.9 9.1 28.9

100 14.4 20.4 25.0 28.9 91.3
1000 45.6 64.5 79.1 91.3 288.7

26

𝒗𝒗 = 𝒓𝒓𝒓𝒓
𝟏𝟏
𝟐𝟐
𝒎𝒎𝒎𝒎𝟐𝟐 = 𝒌𝒌𝒌𝒌 𝝎𝝎 =

𝒆𝒆𝒆𝒆
𝒎𝒎

𝒓𝒓 =
𝟐𝟐𝒎𝒎𝒎𝒎𝒎𝒎
𝒆𝒆𝒆𝒆

• Larmor radius in mm @ B=0.1 T:

• The Larmor radius of 1-keV electron @ B=0.1 T is 1.1 mm. Electrons are 
confined in our system.

• Ar will be used. 



The magnetic field energy of the toroidal field is ~100 J

27

𝑩𝑩 =
𝝁𝝁𝟎𝟎𝑰𝑰
𝟐𝟐𝝅𝝅𝒓𝒓

𝑬𝑬 = �
𝑩𝑩𝟐𝟐

𝟐𝟐𝝁𝝁𝟎𝟎
𝐝𝐝𝐯𝐯 = �

𝒓𝒓𝐦𝐦𝐦𝐦𝐦𝐦

𝒓𝒓𝐦𝐦𝐦𝐦𝐦𝐦
𝑩𝑩𝟐𝟐

𝟐𝟐𝝁𝝁𝟎𝟎
𝟐𝟐𝛑𝛑𝒓𝒓𝒓𝒓 𝐝𝐝𝒓𝒓 =

𝟐𝟐𝛑𝛑𝑳𝑳
𝟐𝟐𝝁𝝁𝟎𝟎

𝝁𝝁𝟎𝟎𝟐𝟐𝑰𝑰𝟐𝟐

𝟐𝟐𝝅𝝅 𝟐𝟐 �
𝒓𝒓𝐦𝐦𝐦𝐦𝐦𝐦

𝒓𝒓𝐦𝐦𝐦𝐦𝐦𝐦 𝟏𝟏
𝒓𝒓𝟐𝟐
𝒓𝒓 𝐝𝐝𝒓𝒓 =

𝝁𝝁𝟎𝟎𝑳𝑳𝑳𝑳𝟐𝟐

𝟒𝟒𝝅𝝅
�
𝒓𝒓𝐦𝐦𝐦𝐦𝐦𝐦

𝒓𝒓𝐦𝐦𝐦𝐦𝐦𝐦 𝟏𝟏
𝒓𝒓
𝐝𝐝𝒓𝒓

=
𝝁𝝁𝟎𝟎𝑳𝑳𝑳𝑳𝟐𝟐

𝟒𝟒𝝅𝝅 𝐥𝐥𝐥𝐥
𝒓𝒓𝐦𝐦𝐦𝐦𝐦𝐦
𝒓𝒓𝐦𝐦𝐦𝐦𝐦𝐦

= 𝟏𝟏𝟏𝟏−𝟕𝟕 × 𝟎𝟎.𝟕𝟕 × 𝟐𝟐𝟐𝟐 × 𝟏𝟏𝟏𝟏𝟑𝟑 𝟐𝟐𝐥𝐥𝐥𝐥
𝟐𝟐𝟐𝟐
𝟏𝟏

= 𝟖𝟖𝟖𝟖 𝐉𝐉
70

10

24

1

Tokamak
plasma

Unit: cm

Toroidal field 
coilI

𝑬𝑬 =
𝟏𝟏
𝟐𝟐𝑳𝑳𝑳𝑳

𝟐𝟐 𝑳𝑳 =
𝟐𝟐𝑬𝑬
𝑰𝑰𝟐𝟐

#/ of Turns I (kA) L (μH)
1 20 0.45
4 5 7.1
8 2.5 28.5

• Measured L=15 μH



A pulsed-power system is capable of providing a high-
power output

28http://www.saudifoundations.com/driven.html

• Driven piles

HVPS Load

• Capacitive-storage pulsed-
power system

𝑬𝑬 =
𝟏𝟏
𝟐𝟐
𝑪𝑪𝑽𝑽𝟎𝟎𝟐𝟐

𝑳𝑳𝑪𝑪

𝑽𝑽𝟎𝟎

Low power IN High power OUT



A spark gap switch is closed when electron breakdown 
occurs

Off

On

On

29



Trigatron will be used as the controlled-spark gap switch

90

90

46

46

21

Gap: 2.5

Φ25

Can be 
pressurized.

Trigger In

Connector
(Cathode)

Unit: mm

Connector
(Anode)

30



A slow trigger pulse generator was built using a ignition 
coil for cars 

Trise = 55.5 us
Jitter: ±𝟎𝟎.𝟒𝟒𝛍𝛍𝛍𝛍

1.25 ms

P.-Y. Chang etc. Rev. Sci. Instrum. 91, 114703 (2020)



Controlled Spark-Gap Switch

Trigger-pulse generator

Trigger box
Trigger 
button

The controlled spark-gap switch

32



A simple pulsed-power system is a RLC circuit

HVPS Load HVPS Load

Zsys

• Before discharge • After discharge

𝑳𝑳𝑪𝑪

𝑹𝑹
𝑽𝑽𝟎𝟎

𝑅𝑅cri = 2
𝐿𝐿
𝐶𝐶

• How can we generate a square 
current pulse?

33



Pulse-forming network (PFN)

34



Different type of PFN

35



The current output of a LC circuit is a basis of Fourier 
series

𝑳𝑳𝑪𝑪

𝑽𝑽𝟎𝟎

𝐭𝐭𝐭𝐭𝐭𝐭𝐭𝐭 𝒕𝒕/𝑻𝑻

𝑰𝑰 𝒕𝒕 = 𝑽𝑽𝟎𝟎
𝑪𝑪
𝑳𝑳 𝐬𝐬𝐬𝐬𝐬𝐬

𝒕𝒕
𝑳𝑳𝑪𝑪

𝒁𝒁 =
𝑳𝑳
𝑪𝑪 𝝎𝝎 =

𝟏𝟏
𝑳𝑳𝑪𝑪

𝑽𝑽 𝒕𝒕 = 𝑽𝑽𝟎𝟎𝐜𝐜𝐜𝐜𝐜𝐜
𝒕𝒕
𝑳𝑳𝑪𝑪

36



A trapezoidal wave can be expressed by Fourier series
(Guillemin’s method)

𝐭𝐭𝐭𝐭𝐭𝐭𝐭𝐭 𝒕𝒕/𝝉𝝉

𝑻𝑻 = 𝟐𝟐𝝉𝝉
𝝉𝝉

𝒂𝒂𝝉𝝉 𝒂𝒂𝝉𝝉

⁄𝑰𝑰(𝒕𝒕) 𝑰𝑰𝑳𝑳 𝑰𝑰𝐋𝐋

𝒊𝒊 𝒕𝒕
𝑰𝑰𝑳𝑳

=
𝒕𝒕
𝒂𝒂𝝉𝝉 ,𝟎𝟎 ≤ 𝒕𝒕 ≤ 𝒂𝒂𝝉𝝉

𝒊𝒊 𝒕𝒕
𝑰𝑰𝑳𝑳

= 𝟏𝟏 ,𝒂𝒂𝝉𝝉 ≤ 𝒕𝒕 ≤ 𝝉𝝉 − 𝒂𝒂𝝉𝝉

𝒊𝒊 𝒕𝒕
𝑰𝑰𝑳𝑳

=
𝝉𝝉 − 𝒕𝒕
𝒂𝒂𝝉𝝉 , 𝝉𝝉 − 𝒂𝒂𝝉𝝉 ≤ 𝒕𝒕 ≤ 𝝉𝝉

𝒊𝒊 𝒕𝒕 = 𝑰𝑰𝑳𝑳�

𝒏𝒏=𝟏𝟏

∞

𝒃𝒃𝒏𝒏𝐬𝐬𝐬𝐬𝐬𝐬
𝒏𝒏𝝅𝝅𝒕𝒕
𝝉𝝉

𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰 𝒃𝒃𝒏𝒏=
𝟐𝟐
𝝉𝝉
�
𝟎𝟎

𝝉𝝉
𝒊𝒊 𝒕𝒕
𝑰𝑰𝑳𝑳

𝐬𝐬𝐬𝐬𝐬𝐬
𝒏𝒏𝝅𝝅𝒕𝒕
𝝉𝝉 𝐝𝐝𝒕𝒕

𝒃𝒃𝒏𝒏 =
𝟒𝟒
𝒏𝒏𝝅𝝅

𝐬𝐬𝐬𝐬𝐬𝐬 𝒏𝒏𝝅𝝅𝒂𝒂
𝒏𝒏𝝅𝝅𝒂𝒂 ,𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰 𝒏𝒏 = 𝟏𝟏,𝟑𝟑,𝟓𝟓. . .

37



𝑳𝑳𝒏𝒏𝑪𝑪𝒏𝒏

𝑽𝑽𝟎𝟎

The required inductance and capacitance are obtained 
by comparing LC output with the Fourier series 

𝒊𝒊 𝒕𝒕 = 𝑰𝑰𝑳𝑳�

𝒏𝒏=𝟏𝟏

∞

𝒃𝒃𝒏𝒏𝐬𝐬𝐬𝐬𝐬𝐬
𝒏𝒏𝝅𝝅𝒕𝒕
𝝉𝝉

𝒃𝒃𝒏𝒏 =
𝟒𝟒
𝒏𝒏𝝅𝝅

𝐬𝐬𝐬𝐬𝐬𝐬 𝒏𝒏𝝅𝝅𝒂𝒂
𝒏𝒏𝝅𝝅𝒂𝒂 ,𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰 𝒏𝒏 = 𝟏𝟏,𝟑𝟑,𝟓𝟓. . .

𝑰𝑰𝒏𝒏 𝒕𝒕 = 𝑽𝑽𝟎𝟎
𝑪𝑪𝒏𝒏
𝑳𝑳𝒏𝒏

𝐬𝐬𝐬𝐬𝐬𝐬
𝒕𝒕
𝑳𝑳𝒏𝒏𝑪𝑪𝒏𝒏

𝑳𝑳𝒏𝒏 =
𝒁𝒁𝒏𝒏𝝉𝝉
𝒏𝒏𝝅𝝅𝒃𝒃𝒏𝒏

=
𝑽𝑽
𝑰𝑰𝑳𝑳

𝝉𝝉
𝒏𝒏𝝅𝝅𝒃𝒃𝒏𝒏

𝑪𝑪𝒏𝒏 =
𝝉𝝉𝒃𝒃𝒏𝒏
𝒏𝒏𝝅𝝅𝒁𝒁𝒏𝒏

=
𝑰𝑰𝑳𝑳
𝑽𝑽
𝝉𝝉𝒃𝒃𝒏𝒏
𝒏𝒏𝝅𝝅 𝒁𝒁𝒏𝒏 =

𝑽𝑽
𝑰𝑰𝑳𝑳
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A trapezoidal current output can be generated using 
Guillemin’s pulse-forming networks

𝒃𝒃𝒏𝒏 =
𝟒𝟒
𝒏𝒏𝝅𝝅

𝐒𝐒𝐒𝐒𝐒𝐒 𝒏𝒏𝝅𝝅𝒂𝒂
𝒏𝒏𝝅𝝅𝒂𝒂

𝑪𝑪𝒏𝒏 =
𝝉𝝉𝒃𝒃𝒏𝒏
𝒏𝒏𝝅𝝅𝒁𝒁

𝑳𝑳𝒏𝒏 =
𝒁𝒁𝝉𝝉

𝒏𝒏𝝅𝝅𝒃𝒃𝒏𝒏
𝒁𝒁 =

𝑽𝑽
𝑰𝑰𝑳𝑳

𝑰𝑰 𝒕𝒕 = 𝑰𝑰𝑳𝑳𝜮𝜮𝒃𝒃𝒏𝒏𝐒𝐒𝐒𝐒𝐒𝐒
𝒏𝒏𝝅𝝅𝒕𝒕
𝝉𝝉

n=1

n=3 n=5

n=7
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Fourier components of τ=1 ms, a=0.1

𝐭𝐭𝐭𝐭𝐭𝐭𝐭𝐭 𝒕𝒕/𝝉𝝉

𝑻𝑻 = 𝟐𝟐𝝉𝝉𝝉𝝉 = 𝟏𝟏𝐦𝐦𝐦𝐦

𝒂𝒂𝝉𝝉 𝒂𝒂𝝉𝝉

⁄𝑰𝑰(𝒕𝒕) 𝑰𝑰𝑳𝑳 𝑰𝑰𝐋𝐋

𝒊𝒊 𝒕𝒕 = 𝑰𝑰𝑳𝑳�

𝒏𝒏=𝟏𝟏

∞

𝒃𝒃𝒏𝒏𝐬𝐬𝐬𝐬𝐬𝐬
𝒏𝒏𝝅𝝅𝒕𝒕
𝝉𝝉

𝒃𝒃𝒏𝒏 =
𝟒𝟒
𝒏𝒏𝝅𝝅

𝐬𝐬𝐬𝐬𝐬𝐬 𝒏𝒏𝝅𝝅𝒂𝒂
𝒏𝒏𝝅𝝅𝒂𝒂

,𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰𝐰 𝒏𝒏 = 𝟏𝟏,𝟑𝟑,𝟓𝟓. . .

n #/
b1 1.2524
b3 0.3643
b5 0.1621
b7 0.069
b9 0.0155
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Coils with 8 turns and a PFN charged to 1 kV will be 
used

I (kA) V (kV) 1 2 3 4 5 E (kJ) % to 100 J
20 2 L(uH) 25.4 26.1 39.3 68.0 228.7 9.0 1.1 %

C(uF) 3986.5 386.5 103.2 30.4 5.5
20 1 L(uH) 12.7 14.6 19.6 34.0 114.4 4.5 2.2 %

C(uF) 7973.0 773.1 206.4 60.9 10.9
2.5 2 L(uH) 203.3 233.0 314.2 543.7 1830.0 1.1 8.9 %

C(uF) 498.3 48.3 12.9 3.8 0.7
2.5 1 L(uH) 101.7 116.5 157.1 271.8 915.0 0.6 17.7 %

C(uF) 996.6 96.6 25.8 7.6 1.4
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A ferrite ring will be used to make the inductors

𝑳𝑳 = 𝑨𝑨𝑳𝑳𝑵𝑵𝟐𝟐𝝁𝝁𝒓𝒓 ≈ 𝟓𝟓𝟓𝟓𝟓𝟓𝟓𝟓 𝑨𝑨𝑳𝑳 = 𝟓𝟓𝟓𝟓𝟓𝟓𝟓𝟓 ± 𝟐𝟐𝟐𝟐% 𝐧𝐧𝐧𝐧

𝒅𝒅𝒂𝒂 = 𝟐𝟐𝟐𝟐.𝟑𝟑 ± 𝟎𝟎.𝟓𝟓𝟓𝟓𝟓𝟓
𝒅𝒅𝒊𝒊 = 𝟏𝟏𝟏𝟏.𝟖𝟖 ± 𝟎𝟎.𝟓𝟓𝟓𝟓𝟓𝟓
𝒉𝒉 = 𝟏𝟏𝟏𝟏. ±𝟎𝟎.𝟐𝟐𝟐𝟐𝟐𝟐

N 1 2 3 4 5 6 7 8 9 10 11 12 13
L(μH) 5.4 21.6 48.6 86.4 135 194 265 346 437 540 653 778 913

L(uH) 101.7 116.5 157.1 271.8 915.0
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A square pulse with a flat top of 2.5 kA can be 
generated
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A simple PFN with constant C and L in all stages can 
also be used

𝑪𝑪 ≡ 𝑪𝑪
_

=
𝟏𝟏
𝑵𝑵 �

𝒏𝒏=𝟏𝟏

𝑵𝑵

𝑪𝑪𝒏𝒏 = 𝟐𝟐𝟐𝟐𝟐𝟐𝛍𝛍𝛍𝛍

𝑳𝑳𝒏𝒏 = 𝟐𝟐𝒏𝒏𝑳𝑳 + 𝑳𝑳𝑳𝑳 ≈ 𝟐𝟐𝒏𝒏𝑳𝑳

𝝎𝝎𝒏𝒏 =
𝟏𝟏
𝑳𝑳𝒏𝒏𝑪𝑪

≈
𝟏𝟏
𝟐𝟐𝒏𝒏𝒏𝒏𝒏𝒏

• For 5 stages:
𝐭𝐭𝐭𝐭𝐭𝐭𝐭𝐭 𝒕𝒕/𝝉𝝉

𝑻𝑻 = 𝟐𝟐𝝉𝝉𝝉𝝉 = 𝟏𝟏𝐦𝐦𝐦𝐦

𝒂𝒂𝝉𝝉 𝒂𝒂𝝉𝝉

⁄𝑰𝑰(𝒕𝒕) 𝑰𝑰𝑳𝑳 𝑰𝑰𝐋𝐋

𝝎𝝎𝟓𝟓 =
𝟐𝟐𝝅𝝅
𝑻𝑻 =

𝝅𝝅
𝝉𝝉 =

𝝅𝝅
𝟏𝟏𝐦𝐦𝐦𝐦

𝑳𝑳 = 𝟒𝟒𝟒𝟒𝛍𝛍𝛍𝛍
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The energy coupling efficiency is lower using the 
simple PFN 

𝑬𝑬 =
𝟏𝟏
𝟐𝟐𝐂𝐂𝐂𝐂

𝟐𝟐 = 𝟐𝟐.𝟐𝟐𝟐𝟐𝟐𝟐𝟐𝟐

• Only 4.4 % of the energy is transferred to magnetic energy.
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Time sequence

Time (t/T)

μ-wave OUT

V (v) 

μ-wave 
OUT

𝑻𝑻 =
𝟏𝟏
𝟔𝟔𝟔𝟔 = 𝟏𝟏𝟏𝟏.𝟕𝟕𝟕𝟕𝟕𝟕

8 ms
CCP heating

B field

1 ms
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Instabilities occur in a cylindrical plasma column

• Sausage instability:

47

• Kink instability:

• Safety factor q:

𝒒𝒒 𝒓𝒓 =
𝒓𝒓𝑩𝑩𝒓𝒓 𝒓𝒓
𝑹𝑹𝟎𝟎𝑩𝑩𝜽𝜽 𝒓𝒓 ≈

𝒓𝒓𝑩𝑩𝒕𝒕
𝑹𝑹𝟎𝟎𝑩𝑩𝒑𝒑

𝑹𝑹𝟎𝟎

𝒂𝒂

(𝑹𝑹𝟎𝟎 ≫ 𝒂𝒂)



A plasma current of ~ 2 kA is needed
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𝒒𝒒 𝒓𝒓 ≈
𝒓𝒓𝑩𝑩𝒕𝒕
𝑹𝑹𝟎𝟎𝑩𝑩𝒑𝒑

≈
𝐚𝐚 𝑩𝑩𝒕𝒕
𝑹𝑹𝟎𝟎𝑩𝑩𝒑𝒑

𝑹𝑹𝟎𝟎

𝒂𝒂𝑰𝑰𝐓𝐓

𝑰𝑰𝐏𝐏𝑩𝑩𝑷𝑷 =
𝝁𝝁𝟎𝟎𝑰𝑰𝒑𝒑
𝟐𝟐𝝅𝝅𝒂𝒂

𝑩𝑩𝑻𝑻 =
𝝁𝝁𝟎𝟎𝑰𝑰𝑻𝑻
𝟐𝟐𝝅𝝅𝑹𝑹𝟎𝟎

𝑰𝑰𝒑𝒑 ∼
𝟏𝟏
𝒒𝒒

𝒂𝒂
𝑹𝑹𝟎𝟎

𝟐𝟐

𝑰𝑰𝑻𝑻 =
𝟏𝟏
𝟑𝟑

𝟓𝟓
𝟏𝟏𝟎𝟎

𝟐𝟐

𝟐𝟐𝟐𝟐𝐤𝐤𝐤𝐤 ∼ 𝟐𝟐𝐤𝐤𝐤𝐤

𝑩𝑩𝒑𝒑 ∼ 𝟒𝟒𝟒𝟒 𝐆𝐆

𝑹𝑹𝟎𝟎 ∼ 𝟏𝟏𝟏𝟏 𝐜𝐜𝐜𝐜
𝐚𝐚 ∼ 𝟓𝟓 𝐜𝐜𝐜𝐜



Plasma current will be generated by the Grad-B drift 
and the Curvature drift current
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• Grad-B drift

https://en.wikipedia.org/wiki/Guiding_center
http://silas.psfc.mit.edu/introplasma/chap2.html

• Curvature drift

𝑽𝑽𝛁𝛁𝑩𝑩 = ±
𝟏𝟏
𝟐𝟐
𝒗𝒗⟂𝒓𝒓𝑳𝑳

⇀𝑩𝑩 × 𝛁𝛁𝑩𝑩
𝑩𝑩𝟐𝟐

𝑽𝑽𝑹𝑹 =
𝒎𝒎𝒗𝒗||

𝟐𝟐

𝒒𝒒

⇀𝑹𝑹𝒄𝒄 × ⇀𝑩𝑩
𝑹𝑹𝒄𝒄𝟐𝟐𝑩𝑩𝟐𝟐

𝑽𝑽𝑹𝑹 + 𝑽𝑽𝛁𝛁𝑩𝑩 =
𝒎𝒎
𝒒𝒒 𝒗𝒗||

𝟐𝟐 +
𝟏𝟏
𝟐𝟐𝒗𝒗⟂

𝟐𝟐
⇀𝑹𝑹𝒄𝒄 × ⇀𝑩𝑩
𝑹𝑹𝒄𝒄𝟐𝟐𝑩𝑩𝟐𝟐

≈
𝟏𝟏
𝒒𝒒
𝟐𝟐𝑻𝑻|| + 𝑻𝑻⟂

⇀𝑹𝑹𝒄𝒄 × ⇀𝑩𝑩
𝑹𝑹𝒄𝒄𝟐𝟐𝑩𝑩𝟐𝟐



A vertical field Bv of 12 G with a curvature of 5 cm is 
needed to generate the required plasma current
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• For P = 10-1 Torr = 13 Pa = 13 N/m2

𝒏𝒏 =
𝑷𝑷
𝑻𝑻

=
𝟏𝟏𝟏𝟏

𝟒𝟒.𝟏𝟏 × 𝟏𝟏𝟏𝟏−𝟐𝟐𝟐𝟐 = 𝟑𝟑.𝟏𝟏 × 𝟏𝟏𝟏𝟏𝟐𝟐𝟐𝟐 𝒎𝒎−𝟑𝟑

Assuming the ionization fraction is 1%:

𝒏𝒏𝒆𝒆 = 𝒏𝒏𝒊𝒊 = 𝟑𝟑.𝟏𝟏 × 𝟏𝟏𝟏𝟏𝟏𝟏𝟏𝟏 𝒎𝒎−𝟑𝟑

𝒋𝒋 = 𝒒𝒒𝒏𝒏𝒆𝒆𝒗𝒗 𝑰𝑰 ∼ 𝝅𝝅𝒂𝒂𝟐𝟐𝒋𝒋 = 𝝅𝝅𝒂𝒂𝟐𝟐𝒒𝒒𝒏𝒏𝒆𝒆𝒗𝒗

𝒗𝒗 =
𝑰𝑰

𝝅𝝅𝒂𝒂𝟐𝟐𝒒𝒒𝒏𝒏𝒆𝒆
=

𝟐𝟐 × 𝟏𝟏𝟏𝟏𝟑𝟑

𝝅𝝅𝟎𝟎.𝟎𝟎𝟎𝟎𝟐𝟐 × 𝟏𝟏.𝟔𝟔 × 𝟏𝟏𝟏𝟏−𝟏𝟏𝟏𝟏 × 𝟑𝟑.𝟏𝟏 × 𝟏𝟏𝟏𝟏𝟏𝟏𝟏𝟏 ∼ 𝟓𝟓 × 𝟏𝟏𝟏𝟏𝟒𝟒 𝐜𝐜𝐜𝐜/𝐬𝐬

𝑹𝑹𝟎𝟎

𝒂𝒂𝑰𝑰𝐓𝐓

𝑰𝑰𝐏𝐏

𝑹𝑹𝟎𝟎 ∼ 𝟏𝟏𝟏𝟏 𝐜𝐜𝐜𝐜
𝐚𝐚 ∼ 𝟓𝟓 𝐜𝐜𝐜𝐜

𝒗𝒗𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝 = 𝑽𝑽𝑹𝑹 + 𝑽𝑽𝛁𝛁𝑩𝑩 ≈
𝟏𝟏
𝒒𝒒 𝟐𝟐𝑻𝑻|| + 𝑻𝑻⟂

⇀𝑹𝑹𝒄𝒄 × ⇀𝑩𝑩𝐕𝐕
𝑹𝑹𝒄𝒄𝟐𝟐𝑩𝑩𝐕𝐕 𝟐𝟐

∼
𝟑𝟑𝑻𝑻
𝒒𝒒

𝟏𝟏
𝑹𝑹𝑪𝑪𝑩𝑩𝐕𝐕

𝑩𝑩𝐕𝐕 ∼
𝟏𝟏

𝑽𝑽𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝𝐝
𝟑𝟑𝑻𝑻
𝒒𝒒

𝟏𝟏
𝑹𝑹𝑪𝑪

∼
𝟏𝟏

𝟓𝟓 × 𝟏𝟏𝟏𝟏𝟒𝟒 𝟑𝟑 × 𝟏𝟏 ×
𝟏𝟏

𝟎𝟎.𝟎𝟎𝟎𝟎~𝟎𝟎.𝟎𝟎𝟎𝟎𝟎𝟎𝟎𝟎 𝐓𝐓 = 𝟏𝟏𝟏𝟏 𝐆𝐆 (𝑩𝑩𝐞𝐞𝐞𝐞𝐞𝐞𝐞𝐞𝐞𝐞 ∼ 𝟎𝟎.𝟓𝟓 𝐆𝐆)

• For Te = 1 eV, BV = 12 G

𝒓𝒓𝒄𝒄 =
𝟐𝟐𝐦𝐦𝐦𝐦
𝐞𝐞𝑩𝑩𝐕𝐕

=
𝟐𝟐 × 𝟗𝟗.𝟏𝟏𝟏𝟏 × 𝟏𝟏𝟏𝟏−𝟑𝟑𝟑𝟑 × 𝟏𝟏.𝟔𝟔 × 𝟏𝟏𝟏𝟏−𝟏𝟏𝟏𝟏

𝟏𝟏.𝟔𝟔 × 𝟏𝟏𝟏𝟏−𝟏𝟏𝟏𝟏 × 𝟎𝟎.𝟎𝟎𝟎𝟎𝟎𝟎𝟎𝟎 = 𝟐𝟐.𝟖𝟖𝐦𝐦𝐦𝐦

𝑹𝑹𝑪𝑪 ∼ 𝟓𝟓 𝐜𝐜𝐜𝐜

𝑩𝑩𝐕𝐕



The prospective system design 

40
 c

m

15 cm

10 cm

22.5 cm

1 kW, 2.45 GHz 
Magnetron

Vertical-field coils
Tokamak
plasma
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(1) Vertical field coil (VF coil): BV=12 G w/ curvature of 5 cm.
(2) Pulse forming network for driving VF coil: ? kA.
(3) Rogowski coil for measuring plasma current: IP = 2 kA.
(4) Triple probe for measuring Plasma characteristics: Te~1 eV, ne ~ 1019 m-3.
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